

Postmark Date:

No Operation:

International Fuel Tax Agreement Tax Return Entered Copy

For va	alidation	only		

This is a copy of your IFTA tax return as it appears online. Please review the information below.

Name BRIG	HT T	RANS LLO	C								
		ss, City, State ID PL SE I		A 98030-	5637						
Accour	nt #: 0	500927									
Fuel T	ype	Total Mile	s Total	Gallons	Avg. MPG	Fuel Ty	/pe	То	tal Miles	Total Gallons	Avg. MPG
Dies	el	112,397	14	1,132	7.95	Gasoli	ne		0	0	0.00
Gasol	nol	0		0	0.00	Propa	ne		0	0	0.00
LNG	}	0		0	0.00	CNG	;		0	0	0.00
Ethan	ol	0		0	0.00	Methai	nol		0	0	0.00
E-85	5	0		0	0.00	M-85	5		0	0	0.00
A55	5	0		0	0.00				•		
A Juris.	B Fuel type	C Total miles each juris.	D Taxable miles each juris.	E Taxable gallons (D ÷ MPG	Tax paid gallons (whole numbers)	G Net taxable gallons (E-F)	H Tax	(Tax due or (credit) (G x H)	J Interest Due	K Total due (I + J)
CA	D	50,149	50,149	6,308	4,688	1,620	1.089	90	\$1,764.18	\$0.00	\$1,764.18
ID	D	232	232	29	0	29	0.320	00	\$9.28	\$0.00	\$9.28
NV	D	1,449	1,449	182	0	182	0.270	00	\$49.14	\$0.00	\$49.14
OR	D	38,932	38,932	4,897	8,920	-4,023	0.000	00	\$0.00	\$0.00	\$0.00
WA	D	21,635	21,635	2,721	524	2,197	0.494	40	\$1,085.32	\$0.00	\$1,085.32
Grand	Total:	112,397	112,397	14,137	14,132	5			\$2,907.92	\$0.00	\$2,907.92
	ı	Return Typ	e:	Ac	tual		-	Тах	Due:	\$2,9	907.92
	ı	Return Peri	od:	1st qt	r. 2024		(Cre	dit:		\$0.00
	I	Due Date:		04/30	0/2024		١	WA	Sales Tax	:	\$0.00

Total Amount Due: \$2,907.92

Interest:

Late Penalty:

\$0.00

\$0.00

The amounts shown above are subject to change upon processing your return.

04/27/2024



Due Date:

Postmark Date:

No Operation:

International Fuel Tax Agreement Tax Return Entered Copy

For v	alidatio	n only		

This is a copy of your IFTA tax return as it appears online. Please review the information below.

Address	(Addre	RANS LLO	e, Zip code)	Δ 98030-	5637					
		500927	CLIVI W	1 70030	7037					
Fuel T	уре	Total Mile	s Total	Gallons	Avg. MPG	Fuel Ty	pe T	otal Miles	Total Gallons	Avg. MPG
Dies	el	130,430	16	5,728	7.80	Gasoli	ne	0	0	0.00
Gasol	hol	0		0	0.00	Propa	ne	0	0	0.00
LNC	3	0		0	0.00	CNG	;	0	0	0.00
Ethar	nol	0		0	0.00	Metha	nol	0	0	0.00
E-8	5	0		0	0.00	M-8	5	0	0	0.00
A55	5	0		0	0.00	Hytha	ne	0	0	0
A Juris.	B Fuel type		D Taxable miles each juris.	E Taxable gallons (D ÷ MPG	F Tax paid gallons (whole) numbers)	G Net taxable gallons (E-F)	H Tax rate	Tax due or (credit) (G x H)	J Interest Due	K Total due (I + J)
CA	D	57,455	57,455	7,366	4,093	3,273	1.0890	\$3,564.30	\$0.00	\$3,564.30
ID	D	58	58	7	0	7	0.3200	\$2.24	\$0.00	\$2.24
NV	D	1,577	1,577	202	101	101	0.2700	\$27.27	\$0.00	\$27.27
OR	D	45,613	45,613	5,848	12,467	-6,619	0.0000	\$0.00	\$0.00	\$0.00
WA	D	25,727	25,727	3,298	67	3,231	0.4940	\$1,596.11	\$0.00	\$1,596.11
Grand	Total:	130,430	130,430	16,721	16,728	-7		\$5,189.92	\$0.00	\$5,189.92
		Return Typ	e:	Ac	tual		Ta	ax Due:	\$5,1	189.92
		Return Peri	iod:	2nd qt	r. 2024		Cı	edit:		\$0.00

Total Amount Due: \$5,189.92

\$0.00

\$0.00

\$0.00

WA Sales Tax:

Late Penalty:

Interest:

The amounts shown above are subject to change upon processing your return.

07/31/2024

07/23/2024



WY

D

361

361

48

International Fuel Tax Agreement Tax Return Entered Copy

For valid	dation o	only		

This is a copy of your IFTA tax return as it appears online. Please review the information below.

Address	(Addre	RANS LLO ess, City, State ND PL SE I	e, Zip code)	A 08020 4	5627						
)500927	XLINI W.	A 30030	0037						
Fuel T		Total Mile	s Total	Gallons	Avg. MPG	Fuel T	ype	To	otal Miles	Total Gallons	Avg. MPG
Dies		113,730	15	5,269	7.45	Gasol			0	0	0.00
Gaso	hol	0		0	0.00	Propa	ne		0	0	0.00
LNO	3	0		0	0.00	CNO	3		0	0	0.00
Ethar	nol	0		0	0.00	Metha	nol		0	0	0.00
E-8	5	0		0	0.00	M-8	5		0	0	0.00
A5	5	0		0	0.00	Hytha	ne		0	0	0
A Juris.	B Fuel type		D Taxable miles each juris.	E Taxable gallons (D ÷ MPG	F Tax paid gallons (whole numbers)	G Net taxable gallons (E-F)	Ta rat	ıx	Tax due or (credit) (G x H)	J Interest Due	K Total due (I + J)
CA	D	50,137	50,137	6,730	4,401	2,329	1.02	230	\$2,382.57	\$0.00	\$2,382.57
СО	D	295	295	40	0	40	0.28	350	\$11.40	\$0.00	\$11.40
ID	D	391	391	52	0	52	0.32	200	\$16.64	\$0.00	\$16.64
NM	D	100	100	13	0	13	0.21	.00	\$2.73	\$0.00	\$2.73
NV	D	511	511	69	0	69	0.27	700	\$18.63	\$0.00	\$18.63
OR	D	38,033	38,033	5,105	9,941	-4,836	0.00	000	\$0.00	\$0.00	\$0.00
TX	D	683	683	92	108	-16	0.20	000	(\$3.20)	\$0.00	(\$3.20)
UT	D	195	195	26	0	26	0.36	550	\$9.49	\$0.00	\$9.49
WA	D	23,024	23,024	3,090	708	2,382	0.49	940	\$1,176.71	\$0.00	\$1,176.71
							1				

Grand Total: 113,730 113,730 15,265 15,269 -4 \$3,599.85 \$0.00 \$3,599.85

-63

111

0.2400

(\$15.12)

\$0.00

(\$15.12)

Return Type:	Actual	Tax Due:	\$3,618.17
Return Period:	3rd qtr. 2024	Credit:	(\$18.32)
Due Date:	10/31/2024	WA Sales Tax:	\$0.00
Postmark Date:	10/28/2024	Interest:	\$0.00
No Operation:		Late Penalty:	\$0.00

Total Amount Due: \$3,599.85

The amounts shown above are subject to change upon processing your return.

Entered Copy



Postmark Date:

No Operation:

International Fuel Tax Agreement Tax Return Entered Copy

F	or valida	ation on	ıly		

This is a copy of your IFTA tax return as it appears online. Please review the information below.

Name BRIG	НТ Т	RANS LLO	C								
		ss, City, State ND PL SE I		A 98030-	5637						
Accou	nt #: 0	500927									
Fuel T	уре	Total Mile	s Total	Gallons	Avg. MPG	Fuel Ty	ype -	Total Miles	Total Gallons	Avg. MPG	
Dies	el	117,231	16	5,684	7.03	Gasoli	ine	0	0	0.00	
Gaso	hol	0		0	0.00	Propa	ne	0	0	0.00	
LNO	G	0		0	0.00	CNG	}	0	0	0.00	
Ethai	nol	0		0	0.00	Metha	nol	0	0	0.00	
E-8	5	0		0	0.00	M-8	5	0	0	0.00	
A5	5	0		0	0.00						
A Juris.	B Fuel type	C Total miles each juris.	D Taxable miles each juris.	E Taxable gallons (D ÷ MPO	(whole	G Net taxable gallons (E-F)	H Tax rate	Tax due or (credit) (G x H)	J Interest Due	K Total due (I + J)	
CA	D	48,159	48,159	6,850	4,359	2,491	1.0890	` '	\$0.00	\$2,712.70	
ID	D	825	825	117	0	117	0.3200	0 \$37.44	\$0.00	\$37.44	
NV	D	2,540	2,540	361	0	361	0.2700	97.47	\$0.00	\$97.47	
OR	D	36,579	36,579	5,203	11,932	-6,729	0.000	0 \$0.00	\$0.00	\$0.00	
WA	D	29,128	29,128	4,143	393	3,750	0.4940	\$1,852.50	\$0.00	\$1,852.50	
Grand	Total:	117,231	117,231	16,674	16,684	-10		\$4,700.11	\$0.00	\$4,700.11	
	1	Return Typ	e:	Ac	ctual		Tax Due:			700.11	
	1	Return Peri	od:	4th qt	er. 2023		Credit:			\$0.00	
	I	Due Date:		01/31	1/2024		٧	/A Sales Ta	x:	\$0.00	

Total Amount Due: \$4,700.11

Interest:

Late Penalty:

\$0.00

\$0.00

The amounts shown above are subject to change upon processing your return.

01/12/2024